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FINDING PRO%BILWJES

. Ralph estimates that he has a 60% chance of getting an’ A on his Enzhsh lest, and 2 45% chance
" of getting an A on his physics test. What is the probability that he gets an A on both tests,

assuming that the even's are independent? .-
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¢ Onany glven gay,'ﬁ?d .mc,,-probabi‘lity Lhat.._tlm,’..mlachine-Will._WOFk,,?,OWBCt}S’ all day.

Suppose a machine consists of two components, componerit A and component B, and the
machine can function properly only if its components are funcuoning properly. On any.given

day, component A has a 5% probability of failure and con.ponent B has a 10% probability of | }

failure. Assume that the component failures are independent events.

a. Find the probability that component A will not fail on a given day.

b.-Find the probability that component B will riot fail on a given day.
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A gamne requires you to toss three dice each turn. |

‘a. ‘What is the probability that you will roll three sixes during a turn? :

b. What is the probability that you will roll three of a kind during awm?

c. If _yoi) play tilc game for five turns, what is t:hc probabiliry that you will nor get three of a kind
during any turn? _ -



. Today Philip intends to go walking. The probability of good weather (G) is % If the weather is
good, the probability he will go walking (W) is % . If the weather forecast is not good (NG) the

probabi.li,ty he will go walking is % .

(a) Complete the probability tree diagram to illustrate this information.
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(b)  What is the probability that Philip will go walking?
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